DO NOT OPEN THE SEAL OF THE BOOKLET UNTIL YOU ARE TOLD TO DO 50
=0 i 3 offe qa w7 T W e et W

A

JDD-61/Engg. — Civil/X-15

Sarial No. '
POST CODE ; é&ta, o ok
b wwna)  Write here Rall number and Answer-Sheset No.
G S . e 662765
o el W ue v - laen e T
Rall No./ siwaTs

Answer-Sheet No./ T77—afirsT T

Time Allowed : 2 hours

ONE-TIER (PRELIMINARY) EXAMINATION

Maximum Marks : 200

Foffmwm 2 @ =T (wrufees) wften HIEHAT 37 £ 200
Read the following instructions carefully baefore you bagin to answer the questions.
WHT 3 3 B 9ed A Rl s S R A g
IMPORTANT INSTRUCTHONS. TO CANDIDATES Tt & T mEvagul sEEm
1. This Booklet contalns 200 gusstans in all comprising tha | 1 e 3 5 200w §, e Frsrlirn st
- foliowing Sacticns F{ﬁ A =
| Sections]  Test Comperents noof | Page | || ger | ot Gee T T T | T A
(A} B |Genesl Awmronoss 0 5= 5 | | (¥ 1 | T A 7 T &
¥ |Gararsl Inteligence and i) | Emere S
Raasoning Abilihy 20 A—8 i 2 it E=1
Iy | Anshmatical and Nurmerical Atdity 20 | 10-13 : ™
W) |Tastaf Langusge : Hingi phall B i) | st o dees dm| a0 #1-13
¥ | Test of Languags - Englsh 20 |17-10 b | v e . W b 14— 98
[L:H Fos: Gpeciic Gubject-Nalated 8] | T e - S0 20 17— 18
Cussilons 100 | 2045 | ||@) | e wihRes Be-shad um =10 B — 4R

2. A% guesBons Bfe compuisary and canmy agual marks

3. The poper corries nageifve markings. For sach wrong
angwer 0.25 mark will be deducted,

4. |n case of any between e English and. Hindi
verglang ol ary quasiicn, the English yemsicn wil ba {reatan
as finalauthonic

5. OMR Andwsar-Sheasd |8 snciosed n $is Bookial, You must
complatn the datails of Roll Mumber, Guestion Booldet Mo,
e, on e Answes-Sheed ard Angwies-Shesd Mo, on the

b e Abgve in thie Qusstion Boodsl, befare you
aclually skarl answerng e guastions, talling ahieh o
ArzwerGhaed wil nod be evetusted and you will be awardes

'‘ZERD’ mark.

6. You mimt not tear off or removs any aheet from (his Books,
Tha Answar Shee| musl ba hanted cver % (ha invigsaior
tanfoes you [eave Iha Expmination Hall

7. Usé of CakculatorPaimiopaptopOther Digitl Instrumant’
MabileCeil Phone/Pager & not afowed.

8. Candidates faund guity of misconductiusng unins mears in
ﬂ;mﬁmm Had will ba |lable jor appropiieis penallegal
®

2. Tha mannar in which diiérar gusestions ars 1o ke anawsned
has Desn adplained sl the back of this Bookied, wkich you
shoulkd moad canafully baloms aglually answarning the guasions,

10, N Rough Work |2 to be done on the Answar-Shoot,

2.
a.

4,

b:

10

Wl T S R W e e

W TN T TR S BT ) AR T i e

0.25 3 W E=E |

ufe )yt i it e o s i i 8, 0 A
Sr{EE B oYl e

LU e rn e R R il U R
EpET 0 ST o F e S e - 1 S e,
e s, et man g2 v i 8 o fam
e ey — i ot e e | e ST - v o
o wreren sfio v e i wE

o fE @ o W s w b ) afien v
BIEd § e e files e e d |
oyl Al S faferA awaTm e
T W et an asem R o

i v 8 e smawn v a o e s
TR S A s i |

By w6 T 2 o il o e & o o o AT 9 %
&l &, v S W T O oA e e

W T T - TS w0

Go through instructions given in Page No. 48 (Back Cover Page)

A%

-




JDD-61/Engg. - Civil/X-15

SECTION - A
i) General Awareness

1. Which of the following Journalists has 6. Which city is famous for the Chithiral
been conferred with the Redink festival, one of world's longest
Award for lifetime achievement ? festivals 7
(A} ArAdb Goswami (A} Madurai
(B) Prannoy Roy (B) Patna
(C} Shekhar Gupta (C) Abmedabad
(D} Krishna Prasad (D) Mysaore

2. Who has been appointed as 7. Omar a!—BaﬁhIr. has been ra-slected
Chairperson of the Children Film as President of which country ?
Society of India (CFSI) 7 (A) Syria
(A} Mukesh Khanna (B) Sudan
(B) Jaya Bachchan (C) lran
(C) Ram Gopal Verma (B)  Ukraine
(B) Gowind 8. As perdata, which are the two Indian

3. Whatis India's currant global rankin cities at highest risk of being
in terms of electricity gagnaratlun rrnn?l devastated by an earthquake ?
nuclsar source 7 (A) Guwahati and Nagpur
(A) 10! (B) Magpur and Srl Nagar
(8) 7t (C) Guwahati and Sri Nagar
(€) 1gh (D} Jamnagar and Guwahati
(D) 12 8. Which of the following leaders has

been racently {Aprl 2015) honoured

4. Moortidevi award is given for
&xcellenr:ﬁltn the fieid of 5 ﬁgﬂ f-_-ﬂr;i:ﬁ mndﬂ;ﬂm%m
{uﬂl.} ﬂiEEEIGaI dance {-lﬁl] U.K. Eiﬂgh
i) Cransicel usiy (B) Yashwant Sinha
(C) E_mtenmtn-graphy (C) Arvind Kejriwal
(D} Literature (D) Kapil Sibai

5. Which organization has leEI‘I 10. Which of the following schemes has
Eﬂll‘_ﬂﬂt&i‘.‘l with the rEEpDﬂEﬂ'._'IIHT)I' of been ranamed as AMRUT scheme 7
ﬁ;'ﬂ“ﬁf{*ﬁ:ﬁ{ﬂﬁ::ﬂ Mahal (A) Jawaharial Nehru National

? Urban Renewal Mission
(A} SBI (B} Rajiv Awas Yojana
(@ IRCTC (C) Indira Gandhi Matritva
(C) NIC Sahayog Yojana
(D) HDFC (D) Jawahar Rojgar Yojana
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Which of the following terms is used
in the game of crickel ?

(A) Tee

(BY Penalty

(C) No ball

(D) None of these

World Day for Water is cbserved on
which of the following days ?

(A) 227 March

(B) 22M April

(C) 227 May

(D) 22" Jupe

What is the name of Indian Mavy's
proposed new base near Porbandar
in Gujarat ?

(A) NS Mahatma Gandhi

(B) INS Subhash Chandra Bose
(C} INS Sardar Vallabhal Patel

(D) INS Bhaghat Singh

Which automobile maker launched
the Safe Roads campaign to create
awareness about road safety 7

(A) Tata Motors

(B) Mercedes Benz
(C) Toyota

(D) Hyundai

Which team has won the Man's National
Hockey Championship 2015 7

(A) Karnataka

(B) Telangana

(C) Indian Raiways

(D) Madhya Pradesh

16,

17.

18.

19.
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The Bipolar disorder is relaled to
which among the following ?

(A} Hear

(B) Lungs

(C) Brain

(D) Liver

Gold mines in India are located mainly
in

(A) Kolar

{B) - Ranigan|

(C) Veeranam

(D} Jadugoda

“Anti Tobacco Day” is observed in
India on which one of the following
days 7

(A) 111 April

(8) 11" May

(C) 31% July

(D) 315 May

Who amongst the following |8 the
author of the book "Crickat My Style” 7

(A) Sunil Gavaskar
(B) Ravi Shastri

(C) Kapil Dev

(D) Sachin Tendulkar

Who is the Chalirman of BCCI
Technical Committee that has

recommended several changes in
Ranall format 7

(A} Sachin Tendulkar
(8) Anil Kumble

(C) Rahul Dravid

(D)  Ajay Jadeja
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i) General Intelligence and Reasoning Ability

(A) CGK
(B) KOS
(C) NRV
(D) RVZ

G, H,J, M, 7,V
(A} Q
B) T
) O
(D) R

ATTRIBUTION, TTRIBUTIO, RIBUTIO,
IBUTI, ?

(A) IBU
(B) UT
(c) um
(D) BUT

KUZ, MOX, OIV, QET....7
(A) SUR
(B) SDR
(C} SMRA
(D} SAR

25:36::49 " ..nue
(A) 81
(B) 64
(C) B5
(DY &0

o gt o s [ 1 1 SRR
(A) 102
(B) 117
(C) 123
(D) 138

27T 11 r2BuTbenaa
(A) 33
(B) 28
(C)y M
(DY 37

T et s ¥t vana
(A) 1728
(B) 303
(C) 1988
(D) 144

29, Insecl: Disease :: War:?
(A) Armny

(B) Deleat

(C) Arsenal

(D} Destruction

Book : Cover :: Painting : 7

(A) Example

(B) Wall

(C) Colour .
(D) Frame

Float : Sink :: Boat; 7
(A} Ship

(B] War

(C) Submarine
(D) Missile

31.

Watar: Dam :: Trade ; ?
(A) Commerce

(8) Economy

(C) Goods

(D) Trade Policy
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Introducing a girl Vipin said, “Her
mother is the only daughter of my
maother- in- law.” How Is Vipin related
to that girl 7

(A) Uncle

(B} Father

(C) Brother

(D) Husband

Showing the lady in the park, Vineet
said, "She is the daughter of my
grandfather's only son.” How is Vinest
related to that lady 7

(A) Brother
(B) Cousin
(C) Father

(D) Uncle

A man sald to a lady, "Your mother's
husband's sister is my aunt”. How is
that lady related to that man 7

(A) Daughter

(B) Sister

(C) Grand Daughter

(D) Mother

Introducing 8 man, a woman said,
“His wife is the only daughter of my
father”. How is that man related to the
woman 7

{AY Husband

(B) Brother

(C} Father-in-law

(D) Maternat-Uncle

JDD-61/Engg. - CivilX-15

'‘Bank' Is related to 'Monay' in the
same way Transport' is related to 7
(A) Goods

(B) Road

(C) Movemnent

(D) Traffic

.- 'Fan’ is related to "Wings’ in the same

way ‘Wheel' is related 1o
(A4) Round

(B) Cars

(C) Spokes

(D) Moves

. Captain Is related to ‘Solider’ in the

same way ‘Leader’ Is related to
(A} Chair

(B) Follower

(C)}) Patient

(D} Medicine

‘Skirmish’ is related to 'War' in the
same ‘Disaase’ s related to

(A) Infection
(B) Epidemic
(C) Patient
(D) Death
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iil) Arithmetical and Numerical Ability

In a class, except 18 all are above
50 years. 15 are below 50 years of
age. How many people are there ?
8 o

B) 33

(C) 36

(D) none of these

If a boat is moving in upstream with
velocity of 14 km/hr and goes
downstream with a velocity of 40 kmr,
then what Is the speed of the stream 7

(A} 13 Kmihr

By 26km'hr

(C) 34 kmihr

(0} none of these

Find the value of (0.76* 0.76 *0.75 -
0.001 )/ (0.75 * 0.75—0.075 + 0.01)
(A) 0.845

(B} 1.80

(C) 2312

(D) 0.0

A can have a piece of work done in
8 days, B can work three imes faster
than the A, C can work five times
faster than A. How many days will they
take to do the work together 7

(&) 3days

(B} 8/9days

{L‘:g 4 days

D) can't say

If a car starts from A towards B with
some velocity due to some problem
in the engine after traveliing 30 km. if
the car goes with 4/5" of its actual
valocity the car reaches B 45 min.
later to the actual time. If the car
engine fails after travelling 45 km. the
car reaches the destination B 36 min.
late to the actual time, what is the
inltial velocity of car and what is the
distance between A and B in km 7
(A) 20 & 130

(B) 20&120

(C) 30 &130

(D) 308120

48,

47,

48.

50.

In a certain company 20% of the men
and 40% of the women altended the
annual company picnic. If 35% of all
the employeses are men What % of all
the employes want to the picnic 7
(A} 23%

(B) 33%

(C) 43%

(D 13%

During a given week a programmaer
spend 1/4 of his time preparing

_charts, 3/8 of his time for coding, rest

of his lime for debugging the
programs. It he had 48 hrs. during the
week how many hours did he spend
debugging the program 7

{A) 15 hrs.

(B) 16 hrs.

(C) 17 hrs.

(D) 18hrs.

A 16 storey bullding has 12000 sq.ft.
on each floor. Company A rents 7
floors and company B rents 4 lloors.
What is the number of square feet of
unrented floor space 7

(A) 50000 sq.ft.

(B) 60000 sq.h

(C) 70000sq.ft, :

{D) 80000 sg.f.

The average salary of three employees
is 95 Rs. per week, if one employee
gams 115 and other eams 65 rupees.
How much will third be eam 7

(A} 105 Rs.

(B} 106 Rs.

{C) 107 Rs.

(D) 108 Rs.

In a computer tape library there are
two racks with 40 tapes per rack. In a
given day 30 tapes are in use. What
fraction remains in the rack 7

(A) 38

(B) 47

(C) &8

(D) Mone of the above
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From its total income a company spent
$ 20,000 for advertising half of the
remalnder on salaries and had
$ 6000 laft, What was the total income 7
(A) 32,000
(B) §22,000
(C) § 12,000
(D) $11.000

A man owns 2/3 of a computer service
baroque business and sells 3/4 of his
share for § 75,000, What is the value
of the business ?

(A) $1,40,000

(B} $1,50,000

(C} $1,60,000

(D) %1,70,000

A computer printer produces 176400
lines ina given day. f the printer was in
operation for 7 hrs during the day how
many lines did it print per minute ¥
(A) 420

(8) 440

(C) 550

(D) None of the above

A boy multiplied a number with 10 and
got 100, instead of dividing it. If he
divided it what would be the answer ?
(A) 1
B) 2
{C) 3
(D) 4

A train moves past a phone post and
a bridge 264 m long in B seconds and
20 seconds respectively. What is the
speed of the traln 7

(A) 75 km/hr

(B) 82km'hr

(C} 79kmihr

(D) 79.2 km/hr

JDD-61/Engg. — Civil’X-15

How many seconds will a 500 meter
long train take to cross a man walking
with a speed of 2 km/hr in the direction
of the moving train If the speed of tha
train is 63 km/hr 7

(A) 32

(B) 30

(C) 40

(D} 48

A jogger running at 8 km'h alongside
a rallway track is 240 meters ahead
of the engine of a 120 metre long train
running at 45 km/h in the same
direction. In how much time will the
train pass the jogger ?

(A) 3Bsec

(B) 20sec

(C) 36sec

(D) 72sec

A 110 metres long train is running
with a speed of 60 kmph. In what lime
will it pass a man who Is running at
& kmph in the direction opposite io that
in which the train is going 7

(A} Bsec

(B) Bsec

(C) 7sec .

(D) 12 sec

The difference between the place
value and the face value of 6 in the
number B56873 is

(A) 873

(B) B973

(C) 5994

(D} None of these

. The difference between the place
value of the two sevens in the number
GO75B472 is

(A 0

(B) 6893

(C) 699930

(D) None of these




5.

53,

. U FEEH AT A W § 20,000

I o TR, W ] S e § Ee A
A2 § 6,000 FA1 R | F9 FFH 6l FHEA
31 eRerd] oft 7
(A} $32000
{C} $12,000 (D) $11,000

uF =i FUE A9 % A S &

2/3 Terdt e wifeerr & ofe 2 T =

a4 T == § 75,000 # Swar 2, @

34, =TI w5 e A e 1

(A) % 1,40,000 (B) $1,50,000
(C) $1,60,000 (D} $1.70,000

wF Hog ) T fedt oft v fEm A
176400 TR F1 Fafn s 8 ) 3R
i 7o F Rusnsme, @

(B) 22,000

v e o 98 et ot e stm 7
(A) 420

(B) 440

(C) 550

(D) Sl A

T A A U w10 # Baem
=0 o 5 1 = @ 38 100 e
%mﬁﬂaﬁ%w%ﬁmw
7

(A 1 (B} 2

() 3 (o 4

T ¥ TE F et A HR 264 m
e A EA 8 TEe ol 20 TEE
i or e, Am e Ry

(A) 75 km/hr

(B) 82 kmihr
(C} 79 kmvhr
(D) 79.2 kmhr

13

a7.

58.
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W& 3 kvhr R AT B e AR sEd
=1 3 faam i = it 500 de s
i 27 okt 11 63 kenihr 8, TR ke
A i = w7
(A} 32
(C) 40

U A1 9 kmyhe =R TR H 120 Hie
=T f) ¥ T A 240 iz s
wHEmmuoydEwmtiaRE E
ek 7 Team 1 45 knyhe THTR & 212 @)
2, 0 =4 2rEwk w1 ag 2
YR S 7

(A) 388FE (B) 20%wE
(C) 36HF= (D) 72HHE

11 0¥z wreaTé = v A a0 &, W Wi
Tz T A A2 ¥ R 6 FRadt. uid
ey ey & e T AT AT
w1 a8 Fer awa § o w5 =

(A) BHEE (B) 6%
(C) 7H%E (D) 1288

(B) 30
(O) 48

856973 TEA H 6 % TH 7
e ) 3 T gen (WA 9w ) &
B -

(A) 973
(B) 6973
(C) 5994

(D) & @ =g e

GO758472 TA W W 1 @MW % HH
el o HL B

(A) O

(B) 6398

(C) 699930

(D) A S AE
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B3.

B1.
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iv) Test of Language : Hindi
e aeon ¢ fEeet

o 7 3 hem foren | 3 et BV
i g EHA] |

(A fom @ A whem fE A I @
|

(B) Wt o T ST I BT

() witol v e R 4 )

(D) bt T i E

s g aE e

(A) s AT T d
(B) ST EW |

(C) R RS |
(D) A& AR EEE |

< T B F@ o1 3in Te |
fam FrFTTTAL |

(A} TEE TR S 91, T

(B) S TV ) T, e

(C) 3 WE W F@ a7 N T A
= |

(D) e Ta T S S 0 AR
Eca

~14-

&4,

5.

e A e

T 3 - 3 o fen s
qEa T

=1 W § I o, W e
il s |

ST T — WL =Y Feee
afn andt T R w0 |

L o, W HEE
Rmanit1

TTgR EEe HegL =l |
Torms s =T |

(A) T 3 Trge e ¥ E =
|

(A
(B)
(C)

(D)

(B) v A TEE i e
ER R

() Tyl FET A e W
mi
(D) T e EieR = |

foralt g B R A A
<7 R B A A |

() frad FraEE

(B) =8 Fore s  gafer 38 w1
ai

() o ot ® , 38 T A
(D Forerd s ® sf @ A A
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67. WA= 20, et s
(A) FHEs A FwEE

(@) =w dfw & sk e ol (A) i~ F-TqE e |

i (B) T dtEa g

(C) HTEE=RIME |

(D) Tormafi 3 mavn B ww w A (C) =lwam, ufe, A FwmE |
HATE |

(D) o3 = i #

66, HT A Tiew forE |

71, Tomd ARaeRnd
(A) Wi e o s w e
i |

A) EREIERW
(8) =t o formm A

(C) =@ dom g, am wefi) PO
(D) SrET SR, S |

(C) FAF= =
69 — 73 ; a0 T % g W F=feiem
T o I Al |

(D) il s
g A A, qfE, dEwmwm e
bl i 72, w3 e freg s =0 @ A
FiTE-F I 0T 5 I ST AN s )
H,Hﬁﬁﬂﬂl_thgzﬁrﬁ;{w| '
HEE THE B, WA B B T )
T4 TR, A FEm g (A) WEMH
69. o Tengn o 3l witd R B) B2F
(A) He-den .
(B) T 7fE : T wE (C) gHF
=
(© s (D) E-Fmima
(D) =HAHE
Asx 15
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' 73, ‘WEE Fwe QO 8 i e 77. oA AT I7e2 A T R e e
“'\ J (A) TR TR A (A) =fREEFR AT
‘ bl (B) Fivgw = e | (B) ST am
- (C) FmimewEr) (C) wTEETE 6
I (D) e e o6 T (D) FEETEH
A —aegha w1 i |
1 | 78, sifiEmd FE
74. ::rm#mﬁﬂ;:rmﬁmi? : ot Loy
_ (B) FFEREA
oy e ©) sz
o mw (D) I | A IS A
(D) TS §Y
75, YFTEE ¥eE 1 W w wwian g ? 79. U H W BEE]
(A) SRS A (A) T T AT
(B) ST Ha (B8) JmgfemisTn ¢
(C) T E (C) A e
(D) FEgErEE A (D) Pt & Tme) § 2 3
76. = e HAE HETH B R 7 80. =T e AR
(A) =fETE (A) s
(B) ST (B) T
(C) TR (C) g T
(D) FEETEE HA (D) T A s
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v) Test of Language : English

The character of a nation is the result

W O TETO ¢ ST
Q.811t00Q.85: B2,
ol its
At this stage of civilisation, when many (A

nations are brought in to close and vital
contact for good and evil, it Is essential, as
never before, that their gross ignorance of
one another should be diminished, that they
should begin to understand a littie of one
another's historical experience and resulting
mentality. 1t is the fault of the English to expect
the people of other countries to react as they
do, to political and intermational situations.
Our genuine goodwill and good intentions
are often brought to nothing, because we
expect other people to be like us. This would
be corrected if wa knew the history, nol
necessarily in detail bul in broad outlines, of
the social and political conditions which have

given to each nation its present charactar.

81. According to the author of ‘Mentality’
of a nation is mainly product of its

(A) Presentcharacter
(B) International position
(C) Politics

(D) History

A7-

83,

(B)
(C)
(D)

gross ignorance

cultural heritage
socio-political conditions
mentality

The need for a greater undarstanding

bhebwoen nations

(A}
(B)
(<)
(D}

s more today than ever belore
was always thero

is no longer there

will always be there

Englishmen like others to react to

political situations like

(A)
(B
(C)
(D)

Othars

Us
Themselves
Each othar

According to the author his countrymen

shou
(A)
(B)
(C)

(o)

id

read the story of other nations
not react to other actions
have a better understanding
of other nations

have vilal contacts with other
nations




B6. Find the emor in the following sentence.
(a) They appointed/ {b) him as a
manager (c) as he is/ {d) efficiant
(A) (a)

(B) (b}
(C) (c)
(D) (d)

87. Which of the following sentence has
error 7

(A) When the dentist came in

(B} My tooth was stopped aching
(C) Outoftearthat | might kase rmy tooth
(D) Mo error

88. A woman came In with a baby who,
she =aid, a safety pin.

(A} was just swallowing
(B) swallowed

(C) had just swallowed
(D) just swallowed

89. She__ As. BOoutofthe bank every
Friday.
(A) Obtains
(BY Draws
(C) Pulls
(D) Extracts

80. The American

presented his

credentials to the President of India.
(A) Adviser

iB) Ambassador

(Cy Deslegate

(D) Represantative

JDD-61/Engg. — Civil’X-15

91. Ordered the sentence :
S1 ; Smoke cozed up between the
planks.
P : Passengers were {old to be ready
to quit the ship. Q : The rising gale
fanned the smouldering fire.
R : Everyone now knew thera was fire
~ onboard. § : Flamas broke out here
~ and there.
56 : Most people bore the shock bravely.
The Proper sequence should be
(A) QPSR
(B} RASFQ
(C) SRQP
(D) QSRP

92-85:
Some parts of the sentences in the passages
below are laft blank. Fill them with the best
alternative. .
(92 ) The demand for residential and
commercial realestate inthe city is (83 ),
though it has slowed down lately due to the
weak economy. The huge demand and
potential for development has (54 ) many
real estate developers, and the city Is today
(95 ) different project - ranging from huge
townships.
g2, (A) Immediately

(B) Constantly

{C) Congsaquentty

(D) Currently
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93. (A) very high

(B] massive

87. | mel him after a long time, but he

gave me the cold shouldar.
(A} scolded me

(C) exorbitant

(D) immense

(B) insulted me

94. (A) Attracted
(C) abused me

(B) Invited
(C) Inspired (D) ignored me
(D) Called
88. Synonymous of GALL
85 WA Qbasrving (A) Sullen
BY Watchi
= i (B} Blessed
(C) A home to
CY i
(D) Witnessing (C) Iritate
(D) Necessary
96 -97:

83, Antonymous of ACCEPT
in the fellowing questions four alternatives

are given for the idiom/phrase ftalicised and (A) Followed é

underlined in the sentence, Choose the (B) Moted

alternative which best expresses the
P (C) Provided

meaning of [diom/phrase.
(D} Rejected

86. Sobhraj could be easily arrested
because the police were Hpped off in 100. Antonymous of ANGER

a advance. —— .
(A) Toppled over
S (B) Happiness
(B) Bribed
(C) Given advance information (C) Love
(B)  Threatened (D) Approval

A= A8




SECTION - B
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Post Specific Subject-Related Questions

The process of finding out the
resultant force is called

(A} Resolution

(B} Superposition

(C) Composition

(D) Transition

The angle of inclination of the plane
at which the body begins to move
down the plane is called

(A) Angle of friction

{B) Angle of repose

(C) Angle of projection

{0} None of the above

Az per the Indian Standard soil
classification system, a sample of
silty clay with liquid limit of 40%
and plasticity index of 28% is
classified as

(A) CH
(B) Ci

(C) CL

(D) CL-ML

A rectangular open channel of width
5.0 m Is camying a discharge of 100
m /s, The Froude number of the flow is
0.8. The depth of flow (in m) In the
channel is

(A) 4

(B) &

(C) 16

(D) 20

The ratio of actual evapo-transpiration
to potential evapo-transpiration is in
the range

(A) 0.0t0.4

(B) 0.6i00.8

(C) 0.0101.0

(D) 1.0t020

Road roughnass is measured using
(A) Benkiman beam

(B) Bump integrator

(C) Dynamic cone penetrometer
(D) Falling weight deflectometer

Which of the following emors can be
aliminated by reciprocal measurements
in differential leveling 7

I. Error due o earth's curvatura

. Error due to atmgspheric-
refraction

(A) Bathl'andll
(B) [only

{C) Honly

(D) Meither | nor i

A force, when, appliad to a body
having mass 1kg and giving It a
acceleration of 1m/sec., is known as
(A) 1 Dyne

(B} 1 Newton

{C) 1 Poundal

(D) All the above




101.

102.

103.

104,

-9

urez wifes Froa-dadft oo
105.

il e v w i wEem i = E
(A) T

(B) Al

(C) R

(D) T4

WHAE F AW FH 58 v five
T 1 = ST SR 3R R,
30 e 8

(A) = T

(B) FEmywr=m

(C) W I

(D) FHIwE

ot aflem ugfa % sy e &
AR 40% FA Him HR 268% AW
sitiEs el el fawl fied =
# enff forn s 8

(A) CH

{8) Cl

(G) CL

(D} CL-ML

W 5.0 m =ial Gefl 78 100 mis
R FE R | wE M= 08 |
ot o wwrE = e (mH) B

(A) 4

(B) 5

C) 18

(D) 20

-21-

106.

107.

108.
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T e ST T TR AT e
= I o Him s e

(A) 0.0% 0.4

(B) 0.6#0.9

(C) 0.081.0

(D) 01920

TS = T T TR AT

(A) e

(B) IR EHRRTF (W 52T )

(C) AT S g

RO GIR R e C i

HHia wede 1 gt A 2 e

18 = i R awd 8 7

|, Tt <t e & S gEETE
UGG

Il STEETE -A99099 %
BTt e -

| ST
e |
e |
15711, B A

9 1 kg TEMA T fivg i oww
WM 1 m/sec F1 =0 FmEE R,

W FEA
(A) 1%
(B) 171
(C) 19EsA
(D) st

(A
(B)
(C)
(D)

|
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108,

110.

111,

112.

Which of the following are correct
units of impulse 7

(A} Gm-cm/sec
(B} Kg-m/sec
(G} Dyne-sec
(D) All the above

If three forces acting at a point are In
equilibrium, then ratio of the force to
the sine of opposite angle is constan,
only it, all the forces are

(A) Inwards

(B) Outwards

(C) Can be both

(D) None of the above

Moment of a couple about any point
in space is always

(A) Different

(B) Same

(C) Both the above

(D} MNaone of the above

The frictional force which prevents

ona body from sliding on another is
known as

(A) Static fniction

(B) Kinetic friction

(C) Cone of friction
(D) MNone of the above

3.

114,

115,

11€.
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Which of the following is correct
axprassion for centripetal force ?
(A} mxwve/r

(B) mx e’
(C) Boththe above
(D} Mone of the above

Which of the following are known
as sillcious rock 7

(A) Slate
iB) Limestone
(C) Laterites
(D) Granite

Which of the following have less
unit waight 7
(A) Granita
(B) Sand stone
(C) Marble
(D) Basalt

Stone in buiiding work can be used
for which of the Ifollowing
componants 7

{A) Foundation

(B} Walls and Coloums
{C) Arches and Lintel
(D) All the above




110.

111,

112.

00, TR S AR R e 2

(A) Gm-cmisec
(B) Kg-m/sec
{C) Dyne-sec
(D)  FEaH

a7 uF farg wowE F9 Te JW e
A A #, 76 a0 sl Feg e S

WA (sine) F1 9w i w2, gk
e avfi A A

(A) Tl

(B) @

(C) AFITE e E
(D) o

s § Rl g e g sl
FIT B R

(A) 3tEm

(B) T
(C) Fufiami
(D) =) =78 T

T fivg & gat fave 8 e & T
T Wi &6 1 FEd 6

(a)
(B) rferst wrdo
(C) = T
(D) Ff = =l

113,

114,

115

116.
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w7 1 B el s
sl e 7

(A) ms v

(B) mx ro

(C) FUiEH

(D) Fti = 7l

P @ ol et ser amd 1

(A) Tz
(B) SAT-TeER
(C) T

(D) T

fre i & o g A A 2 7
(A) TTEE

(B) ae TRR S
(C) TTHTE -

(D) it

AT = & T e A A e e
o T e E 7

(A) =

(B) #Emr 3wy
(C) = 3w wEs
(D) Fwimdl




17,

118.

119.

120.

A tast, to find out the rate of wear of
gtona usad in road construction is
known as

{A) Crushing test
(B) Impacttest
(C) Aftrition test
(D) Hardness test

The brick which is light in weight,
reduce tha transmission of heat,
sound and dampness, s known as

(A) Hollow brick
(B} Cavity brick
(C) Cellular brick
(D) All the above

Properties of steel can be altered by
(A) Struclural treatment

{B) Healtreatment

(C) Boththe above

(D) None of the above

The slope of tensile stress-strain

diagram represents

(A)  Modulus of rupture
(B) Modulus of elasticity
(C) Tenacity

(D) Ductility

121.

122,

123.

124,

JDD-61/Engg. — Civil/X-15

The structural member which can
carry compressive force only is known
as

(A) Tie

(8) Channel

(C) Strut

(D) Mone of the above

Factor of safety is employed to kesp

the working siress

(A) Below the elastic limit

(B) Below the proportional limit
(C) Below the yield point

(D) Between elastic Hmit and
proportional limit

The value of Poisson ratio Is
ganerally not greater than
(A} 0.05

(B) 1

(Cy 05

(D) 1.5

The stress in any fibre in a beam

subjected to bending depends upon

(A) Distance of fibre from neutral
axis

(B) Radius of curvature of neutral
axis

(C) Elasticity

(D} None of the above




118.

118.

120.

EERTE
A

117,

Hem T o v % fmm 1w aem
a4 o o o T e e

(A) T adieam
(B) HEWE Wi
(C) TTg Tlem
(D) =gré ufjem

w1 $z g9 1§ vk B 8, e T
el A i S Fd B, S wEa B

(A) wEeEde
(B) Frtde
(c) =iz
(D) Forad

weuTe & T # 8 wET SeeE
EIE:CTIE

(A) T A

(B) Fw sl

(C) FriEHl

(D) T ®E

T TR & 2T | e widt e
(A) FEA S

(B) T F A

(C) =&

(D)

121.

122.

123,

124.
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A F1 U2 A Fae weftew e B
AT
(A) - ==
(B) wOTRE
(Cy =
(D) wudt=rd =l
mﬁmmm I9E HE ==
(A) T EmE R
(B) | H A e wEn g
(C) wife farg & 9 g &
(D) - w2 i i wae i & e

TR
UTEEA ST W1 HEg AW 364
AT T 2 -
(A) 0.05 o
(B). 1
(C)- 0.5
(D} 1.5

e (aftn) & T oft g A o g
T, 39 T @ W Rl g

(A) FEEE sm g FIE
(8 TR 318 3 e ) e
(C): w=H

(D) i =hig A

i'.
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126.

127.

128.

If a small concrete cube is submerged
deep In still water in such a way that
the pressure exerted on all faces of
the cube is p, then the maximum
shear stress developed inside the
cube Is

(A) O
(B) p2
(C} 2p
D) p

In a steel plate with bolted connections,
the rupture of the net section is a mode
of tailure under

(A) Tension

(B) Compression
(C) Flexure

(D) Shear

The main constituent of Portland
cement is

(A} Lime

(B) Alumina

(C) Iron oxide

(D) Magnasium oxide

Coefficient of friction of road surface
decreases on

(A} decrease in load

(B) temperature rise

(C) depleted tyre pressure
(D} none of the above

123.

130,

131,

132
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To orient a plane table at a point with
two inaccessible points, the method
generally adopted is

(A) Intersection
(B] Hesection
(C) Radiation

(D} Two point problem

The vertical angle between
longitudinal axis of a freely
suspended magnetic needla and

a horizontal line at its pivot is known
as

(A} Declination

(B) Azimuth

(C) Dip

(D)} Bearing

Which of the following pump Is
successiully used for lifting water to
lurbines ?

(A} ceninfugal

(B) reciprocating pump

(C) |et pump

(D} air lift pump

In limit state of collapse in flexura,
the ultimate strain in concrele is
fimited to

(A) 0.002
(B) 0.0035
(C) 0.003
(D) 0.0025




126.

127.

128,

. AT HigE F UF Ol T w1 T gE g

30 e g = R o 3w e
WER T EE p # | UE i w v
Terrfira gom whma o &

(A} 0O
(B) p2
(©) 2p

2 p

AR TR AIEe i es
I T 2 I TH 27RO o W
&

(A) @

(8) w=m

(C) =

(D) Wi

et fle e vew R
{A) =

(B) g

(C) ¥ ATHETEs

(D) HiETs A
HE 1 TAE 1 JH T T2 & v
(A) SR HHEWTR

(B) AT aEAIE

(C) 2R =12 %0 A8
(D) Flt=EAd

129,

130.

131.

132
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U TS A 1 A sy gl

A T g W SgETE 1 F B
IR SO A-ET TS f

(A) witreba
(B) ==
(C) ffEmm
(D) = ferg e

0F el
e o

ﬁma'ermaﬁmai'riﬁr&#
(A) T

(B) TEm

(C) e

(D) T

Zaie o o ol o we & R e i
R TP F HREGE S Jan
MEFA R

(A) ST

) iR T
(C} =99
(D) SR AT T

syt i iR o o Rt w0
# syfm o gE A Hifva 8

(A) 0.002
(B) 0.0035

(C) 0.003
(D) 0.0025

-

m_—



133.

134,

135.

136.

The percentage of alumina ina good
brick clay should may from

(A) 20 % —30%
(B) 80 % —40%
{C) 40%—50%
(D) 50%—80%

The angle which the resultant of
frigtional force and normal force
makes with the normal to the sliding
surface when It is on the verge of
sliding is called

(A) Angle of repose

(B) Angle of imiting friction

(C) Angle of kinetic friction

(D} None of the above

The ratio of different ingredients
(cement, sand, aggrate) in concrete
mix of grada M20, is

(A 1:1:2

By 1:15:3

(C) 1:2:4

(D) 1:3:8

The centre of gravity of a right circular
solid cone of height 'h' measured
along the vertical axis, is at distance
of

(A) h2
(B) h3
(C) w4
(D) W&

137.

138.

133,
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"If three forces acting at a point are
in eguilibrium, then each force is
proportional to the sine of the angle
between the other two". This
theorem statement is

(A) Principle of transmissibility
(B) Lami's theorem

{C) Parallel axis theoram

(D) MNone of the above

The deformation produced in a
body when subjected 1o a direct
load equal to weight of the body,
and the deformation produced due
to own weight of the bar are

(A) Equal

(B) Hall

(C) Double

(D) Thrice *

When a body is subjected o a
direct tensile stress ( o) in one
plane, then maximum normal stress
occurs at a section inclined at an

angle @ to the normal of the
section, where g Is

(A} 30°

(B) 0°

(C) 45"

(0}

gﬂn




134,

135.

136.

i FT ey

(A} 20% - 30%
(B) 30%—40%
(C) 40% —50%
(D) 50% —60%

mﬁmmaiﬂﬂﬂi;ﬁ#
Y B R e i) e s e
o A yhond For S w5 §

(A) TasmFTEm
(B) i o 1 oy
(C) i wdor sy oy
(D) St g e

M20 #vft 3 wifarz firmm o fafirs aeai
a1 (ferte, wre, een) s @M e
A 1:1:2
(B) 1:15:a
(C) 1:2:4
(D) 1:3:8

Her 3 F wfram oy I

) FamET 318 T o Thees 7
TR S

(A) hi2
(B) W3
(C) hi4
(D} he

137.

138.

139.
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o2 v oy o = A A
HeH A 8, AW = A w9 A
=t F Fm % =1 (sine) F wETH
e d |\ T b e

(A) Fad = frgr

(B) &H (Lami's) %1 fagra
{;:]-mimmm
(D) Ffi = =

s st bm it ma=a
Tooe 1§ 3 O T Be s e &
A I B 3T B e e B

(A) T EH

(B) 3

€y =z
(D) fompm

" A § 94 e W 7 aE
(o) EEmamme, e am-ad o
0 A e g0 S W AR e
o ufeg g 2, 71El 9 B

(A) 30°
{8y 0
C) 45°
(D} @0°

-

=1}

.
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141,

142,
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When a body is strained within elastic
limit, the enargy stored is known as

(A) Resilience

(B) Proof resllience
(C) Potential energy
(D} Strain energy

Drift method of tunneling s used to
construct tunnels in

(A) Soft grounds

(B) Rocks

(C) Self-supporting grounds
(D) Broken grounds

The bending moment at fixed end of
a cantilever beam of langth 'L’ and
carrying a gradually varying load from
zero at free end and 'w' per unit length
at fixed end is

(4) wL22
(B) wLZ4
(C} wL%&
(D) =zaro

Lug angles are

(A) Provided to take heavy
moments

(B) Angles to reduce the length of
connection

(C) Angles with bulb on one leg

(D) Angles subjected to reversal
of stresses

144,

145.

1486.

147.

148,
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Column splices are assumed to be
(&) Short columns

(B} Long columns

(C) Intermediate columns

(DY MNone of above

A vertical plate of a plate girder is
called

- {A) Web plate

(B) Flange plate
(C) Cover plate
(D) Mone of the above

Glaclal soils are those which are
(A) Deposited in sea water

(B) Deposited at the bottom of -
lakas
(C) Transported by running
watar
(D) None ofthe above
.
The maximum size of the particles
of clay is about
(A} 0.0002 mm
(B) 0.002 mm
(C) 0.02mm
(D) 0.2mm

The approximate void ratio In sandy
soils is

(A) 0.2
(B) 03
(C) 0.8
(0} 1.2
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(A} 0.0002 mm

(B) 0.002 mm

(C) 0.02mm

(D) 0.2mm

A1 Tt # i s Eren @ s
(A) 0.2

(B) 03
(C) 06
(D) 1.2



149,

150.

151,

162,

Darcy's law Is valld only if the flow is
(A) Turbulent

(B) Due towater

(C) Laminar

(D) Intermittent

Compaction of soll is measured In
terms of

(A) Dry density

(B) Specific gravity

(C) Compressibility

{0 Permeability

in a lift moving with certain
accelaration, tension in the cable
supporting the lift is more when the
lift is moving

(A) upwards

(B) downwards

(C) both upwards and downwarnds
(DY none of the above

When a body is subjected to three
mutually perpendicular stresses of
equal intensity, the ratio of direct
stress to the corresponding volumatnc
strain Is known as

(A) Poisson's Ratio

(B) Bulk Modulus

(C) Young's Modulus

(D) Modulus of Rigidity

JDD-61/Engg. — CivilfX-15

153, The latitude of a given place Is zero on
(A) Nadir side
{B) Zenith side
(C) Equator
{0} Anywhere

154. A lift moves downwards with an
acceleration of 9.81m/s®. The
pressure exerled by a man of weight
800 N an the ficor of the lift is
(A) 981N
(B) Zaro
(C) 19.62 N
(D) 4.95N

155, A simply supported beam AB of span
‘L’ carries a uniformly varying load

over the entire span, varying from zero
intensity at end B to 'w' per unit length
at end A, The shear force atBis

(A) wLi6
(B) wLi3
(C) 2wL/3
(D) 2wl

=

156. About an axis perpendwcular to the
circular section, moment of inertia is
aiven by
(A) md¥16
(B} nd¥32
(C) mnd¥32

(D) nd¥64
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150.

1568.

Two fixed beams A and B are
having same span ‘L'. Beam B
carries a central point load "W and
beam A carries an uniformly
distributed load such that the total
lnad on beam B is “W'. The ratlo of
maximum deflections between
beams Aand B is

(A) 1
B 2
(C) 3
D} 4

The ratio of Young's modulus to
Bulk modulus for a Poisson's ratio
of 0.25 s

w X
(B) %

(C) 1

©® 3

In the limit state design for flexure,
the area of the siress block for
concrete is

(A) 0.361y X,
(B) 0.421, X,
(C) 0481, X,
(D) 05314 X,

160.

161.

162,

163.
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It a two way slab is found to be unsale
in shear, which of the followings
would you recommend 7

(A) Provide shear stimups

(B) Increase diameater of
longitudinal reinforcement
Increase the thickness of slab
Mone of the above

(C)
(D)

‘Equilibrant is a force

(A} Which brings a body in

equilibrium

Which moves the body along

the resultant force

In zig-zag movemeant of the

body

(D) Which moves the body In
opposite  direction to
equilibriant force

(B)

(C)

The most common method of
pre-stressing for mass production in
the factory Is

(A) Freyssinet method

(B) Long line method

(C) MagnelBlaton method

(D) Mone of the above

The soll transported by running water
is called

(a) Alluvial

(B) Marine

(C) Aeolian

(D)

Lacusining
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164. The uniformity coefficient is defined
as the ratio of

(A) Dyqto Dy
(B) DagtoDyy
(C) DggtoDyy
(D) DggtoDgy

165. The permeability of a given soll is

(A) Directly proportional fo the
average grain size

(B) Inversely proportional to the
average grain size

(C) Directly proportional to the
square of the average grain
size

(D) Inversely proportional to the
sguara of the average grain
size

168, The possibility of quick sand condition
will be there when flow of water to soil is
(A) Horizontal

(B) Upwards

(C) Downwards

(D) Radial

167.

Optimum moisture content is the
maisture content at which

(A} Settlement is maximum
(B) Permeability is more
{C) Dry density is maximum
(D) Shear strength is less

168.

169,

170,
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With regards to radius of curvature

of an ideal transition curve, which of

the foliowing statements is correct ?

(A)  Itis inversely proportional to
the main circular curve

(B) Itis constant throughout the
length of the curve

C) Itis Inversely proportional to

its distance from point of
tangency

(D) It is directly proportional to
the longitudinal section of

the curved portion

The tilt displacement in an aerial
photograph is radii from

(A) Isocentre point

(B) Nadir point ‘

(C) Principal point

(D) Plumb point

A reinforced concrate beam will
crack, if tensile stress set up in the
concrete below the neutral axis s

(A) Less than permissible stress
(B) More than permissible stress
(C) Equal to permissible stress
(D) Anyone of the above
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172,

173

Reinforcement for torsion Is provided

in the form of

(A) Longitudinal reinforcement
only

(B) Both longitudinal and shear
reinforcemant

(C) Shear reinforcemant only

(D) Mone of the above

The wire mesh provided at the cormers

of a two way slab

(A) Controls cracking of comers

(B) Prevents corners from lifting

(C) Distributes bending moment
uniformby

(D) Mone of the above

Theory of thin cylinder is used to

design surface tank walls of

(A) Circular tanks with walls
restrained at base

(B} Short walls of rectangular
tanks

(C) Circular tanks with flexible
joint at base
(D) None of the above

174,

175.

176.
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In a two way rectangular reinforced

footing, the central band in long
direction contains

(A)
(B)

(C)
is)

More reinforcement

Twice the reinforcement in the
short direction

Less reinforcement
None of the above

In pre-stressed member, the Wobble

effect is related with

(A}
(B)
(C)
()

Creep of concrete
Frictional loss
Creap of steel &

Shrinkage of concrete

Flats are used as tension members

in

(Ad
(B)
(C)
(D)

Roof trusses
Transmission lowers
Suspension bridges

All the above
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178.

179.

180.

An out of plane web distortion is
known as

(4) Web Buckling

(B) Verical web buckling
(C) Column buckling

(D) Al of the above -

When a beam is connected to a
stanchion by means of two angles
riveted to them, the connection is
known as

(A} Unstiffened
connechion
Stiffened seated connection
Framed connection
MNone of the above

seated

(B)
(C)
i)

The ratio of volume of voids 1o total
volume of soll mass is called

(A) Water content

(B} Porosity

(C) Void ratio

(D) Degree of saluration

Toughness index |s the ratio of

(A) Flow index and plasticity
index

(B) Plasticity Index and flow
index _

(C) Liquidity index and flow

index

(D) Flow index and liquidity
index

181.

182,

183.

184,
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As angle of internal friction "¢°
increasas, coafficlent of active earth
prassura

(A) Increases

(B) Decreases

(C) Remains same
(D} None of the above

The minimum depth of foundation for

" bulidings of clay s

(A) 0.2to04m
(B) 0.41006m
{C) 06t0089m
(D) D91E6m

Heading bond is usually used lor
(A} half brick wall

(B) one brick wall

(C) one and hall brick w‘ail

(D) two brick wall

In a stairs, the flier is

{A) a vertical portion of step

' providing a support to the
tread

(B) a straight step having a

parallel width of tread

the under surface of a stair

the angle which the line of

nosing of stairs makes with

horizontal

(C)
(D)
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185, The type of masonry in which the
stones of irregular size and shapes

are used and there are no regular
courses is known as

{A) uncoursed rubble masonry
(B} coursed rubble masonry
{C) random rubble masonry
(D) dry rubble masonry

186. A type of brick masonry in which each
course consists of alternate header
and stretchers is called as

(A) English bond
(B) Flemish bond
(C) Stretching bond
(D) Heading bond

187. The function of aggregates in
concrete Is to serve as

(A) binding material
(B) filler

(C} catalyst
(D) allof these

188, Which of the following ingredient of
cement when added in excess
quantity, causes the cement io set
slowly 7
(A) Lime
(B) Silica
(C)  Alumina
(D) lron oxide

188,

180,

181.

182.
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The inert material used for the
manufacture of mortars and concrete is

(A) cemeant
(B) water
(C) aggregate
(D) admixture

Initial setting time for ordinary

Portland cement is
(A) 15 min

(B) 30 min

(C) 60 min

() 10h

The value of bulk density of aggregate
depend upon

{A} size distribution of aggregate
(B) shape of aggregate

(C) specific gravity of aggregate
(D) allof these

Workability of concrete by slump test
is expressed as

(A} minutes

(B) mm/h

(C} mm2/h

(D) mm
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183. A compaction factor 0.88 indicates

184,

195.

1586.

that workability of concrete mix is
(A) wvery low

(B)
(C) medium
(D) high

low

The conception of idea for any
construction work is the respansibility
of

(A) owner

(B} engineer

(C) contractor

(D) all of these

Milestone chart |s an improvement
over
(A)
(B)
(C)
(D)

bar chart
PERT
CPM

all of these

A Gantt chart indicates
balance of work done
efficiency of project
comparison of actual process
with scheduled process
progress of project

(A)
(B)
(C)

(D}

JDD-61/Engg. — CiviliX-15

197. PERT stands for

198.

198.

(A)
(B)
(C)

©)

200,

Program Estimation and

Reporting Techniqua
Process Estimation and
Review Technique
Program Evaluation and
Review Technigue
Planning Estimation and
Review Technigue

Alignment of road is finally decoded
on the basis of

(A) selection of route

(B) field survey

(C) tracecul

(D) none of these

The value of maximum gradient for
the hill roads L

(A) 1In5 .

(B} 1in10

(C) 1in15

(D) 1in20

An average value of coefficient of
velocity is
(A) 0.82
(B) 0.76
(C) 0.84
(D) 0.87
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